V2 BIESHREFRELIEN
5 R
2014 £ 12 A 6 H

SN 1
2=1 1
V2 BTV, M
PRt 1
V2=1+ 1 =1+ ]
141 2
ARV, IRV
AW PEAT T 25, w3
V2=1+ 1]
2+ 1
2+ ]
245
e R UE B ik 1 ]
1+2 1
' 1
2k ]
245

TS e S IXAB YAk 40 )

I"ﬂ%ﬁ. E%D Pn+1 = ﬁ + ], JEI_ P11 = 1, Ekﬁ_E llmnﬁoo Pn ﬁ?’j}

XS ] B K AN RS AR . 25 D E IR R AT AE I, RS T V2.

FEFAOEAFE S V2 PR, A DIGEY] 2 B RUEE. BB 2, 3
i op,q AR IEHHE 2 B2, i)

1
V2= —1,
V21
il ]
P
P _ -1,
q -1
Hll
P_29-p
g pP—q

Ui 2R s TR EROE IR, Hop —q < q, X5 B MEEATERIE. TR V2 ARA A

*

ISP (1992—), Y5, UMMy K22 B 2 B 452 5 3 07 4 A RHE 32, E-mail:yelugingmathematics@gmail.com



